Chapter 8 Test Review
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The perimeter of a rectangle 1s 84 feet. The ratio of the width to the length 1s
2 Sx Find the length and the width.
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The area of a rectangle is 108 cm?. Thf; ratio of the width to the length is
3x 4xFind the length and the width.
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The measures of the angles in a triangle are in the extended ratio of Ix 4x
Find the measures of the angles. s

\\(-\-\-\Xv_)x-_\%og x> (15 =13

12X = %O Lx-Y (18) = D
X=\D

x> (\9)=\ 057



3)

7., 10
35. AT

2= 119

\ =
2:- 30
(N=

(r.5)



7 3
M. 5 J;Biz
722522 +9)

e

=15



* X

5) % T Xt
17. 3 and 27 9 18. 4 and 16 8 19. 7and 28 14
J2xan) e 7%
B} Jion Ao

9 % 4



6-7)

AB _JACI .. VW _ VX -
23. GIVEN BD ~ CE find BD. 11.25 24. GIVEN WY Xz find VX. 9
A _@,D_X\_\_e ——°°->(><
20, 16 %: l_g_b
B c Mo \/
7/ \9 X=1\.3H
D E
BT _ES SP _ 8@ ¢ 1
25. GIVEN TR — Sk find TR. ﬁi 26. GIVEN SK i8I’ find SQO. 175
B E K
I S i
X = LJO
‘%: ) \ ?
2 R L S




8)

8. ADEF ~ APQR °

L0 L TE o £V
LE ZLQ PR L
[ E= LR

9. JJKIM ~ [OWXYZ
[YZ LW
[ X = LX
L= 2N
(M2 (7
10. OQRSTU ~ ABCDE

e e = e T

VAR

MC KL LA MDA
T W

L Q= LA
LRQ=L0
LS =LC
(T =L
LWZLE

QR ¢S ST TW_UGR

A& BC co = €A



9)

4 8
S
15. E
A B ]
| L

7. x A
4.5 2
LS 2 3
12

P 2
S -5 6.75
&z
e RieY \

Z 9

18.

118°

¥ 3 A

J 0
\75

u o
@ 3 q Slezn
> q \
. gy S 0\,(
4 4
W v H 3 G

R 14 S

»
30 \65° QLHJS\’ .
20 9

(P L

v OO SIOOWQEC



10) ‘

_ Q
19. Find the scale factor of PORS to JKLM. | 12
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;t/\ Find the values of w, x, and y.

?é. Find the perimeter of each polygon.
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